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Osmosis (a) is a active transport (b) is diffusion of dissolved substance
across differentially permeable membrane (¢) need a membrane protein
to facilitate its reaction (d) need to spend ATP

Specific protein receptors are present for all of the following except (a)
signal amplification (b) signal transduction (c) intracellular receptors
binding to DNA. (d) signaling to other cells (€) as cell junctions

Small molecules or ions can pass from one cell to another through (a)
tight junctions (b) gap junctions (c) diffusion spheres (d) desmosomes
(e) adherens jungtions

One of the most important coenzymes that accepts electrons/hydrogens
is (a) NAD+ (b) NADH (c) ATP (d) NADPH (e) ribozyme

A rescarcher wants to slow down a particular cellular activity by
controlling an enzyme that catalyzes that activity. ~All of the following
choices are available except (a) increasing the temperature of the cell's
environment (b) decreasing the temperature of the cell's environment (c)
reducing the pH of the cell's environment (d) increasing the pH of the
cell's environment (e) adding substrate as it is depleted to the cell's
environment

The energy released in the mitochondrial electron transport chain is
used to transport protons into the (a) matrix (b) cytoplasm (c) ER (d)
inter-membrane space of mitochontria (€) enzyme complex of the Krebs
cycle

Pinching off the top buds will decrease the production of by
the apical bud and allow the plant to become bushy. (a) auxin b)
cytokinin (c) gibberellin (d) abscisic acid (e) ethylene

When a seed is first formed in the fall, it typically will not germinate
because _ must first be washed from the seed by a hased rain or
broken down by cycles of freezing and thawing. (a) auxin (b) cytokinin
(c) gibberellin (d) abscisic acid (e) ethylene

Which part of the chloroplast contains the Calvin-cycle enzymes? (a)
stroma (b) thylakoids (¢} grana (d) envelope (e) cristac

Primary growth in plants results from activity of (a) apical meristems (b)
lateral meristems (c) vascular cambium (d) cork cambium (e) tracheids

Which sequence most accurately describes blood flow in the human
circulatory system? (a) right atrium —>right ventricle — pulmonary
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artery (b) right atrium —>left atrium — left ventricle —aorta (c) left
atrium —left ventricle —pulmonaty artery (d) left ventricle — left
atrium —aorta (¢) right atrium —right ventricle —>aorta

12. Which of the following regulate the red blood cell numbers in human?
(a) epinephrine (b) erythropoictin(c) oxygen (d) sympathetic nervous
system (€) parasympathetic nervous system

13. Select the mismatched digestive enzyme and substrate. (a) trypsin —
proteins (b) lactase - disaccharides (c) chymotrypsin -- DNA and RNA
(d) amylase - starch () pepsin — profeins

14. What determines the ability of a mammal to concentrate the urea? (a)
the numbers of nephrons (b) the length of the tubules (c) the length of
the collecting duct (d) the size of the glomerulus (e) the length of the
Loop of the Ienle '

I5. A hemoglobin molecule has an iron atom at its center. A hemoglobin
molecule can carry all of the following gases ot gaseous products.
I.oxygen II carbon dioxide III. carbon monoxide IV. nitric oxide
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10. 3tk (a) cardic muscle vs. smooth muscle (c) positive feedback systems

vs. negative feedback systems (c) vessel member vs. sieve tube member 2.
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